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Notes on Day 3 of Sequences

Use the following Currency Exchange to answer the questions below, Figure:
are based on the exchange of the US Dolla

You get) You pay
Canadian Dollar 10.99915| 1.00015
Swedish Krona |6.78548]| 6.79664

Great British Pound| 0.63080| 0.63120

Euro 0.76433| 0.76492

For this question, give all of your answers correct to the nearest dollar.

a)How many Canadian dollars would you get for 150 US Dollars assuming there
was no commission?

b) If you exchanged 300 US Dollars for Euros and a commission of 2.5% was
charged, how many Euros would you receive?
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You get|You pay \oo-

Canadian Dollar |0.99915| 1.00015
Swedish Krona |6.78548]| 6.79664
Great British Pound| 0.63080| 0.63120
Euro 0.76433) 0.76492

For this question, give all of your answers correct to the nearest dollar.

R a)How many Canadian dollars would you get for 150 US Dollars assuming there
’%\F\ ~was no commission?
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b) If you exchanged 300 US Dollars for Euros and a commission of 2.5% was
charged, how many Euros would you receive?

domisston (0.029)Q00) = T90 USB

Imowr 1O o150 = 29250 USP

(232650 USP)( 16433 Euro) - @

You get| You pay
Canadian Dollar |0.99915| 1.00015
Swedish Krona |6.78548| 6.79664

Great British Pound(0.63080° 0463120

Euro 0.76433]| 0.76492

¢) How many USD will you get for the exchange 1000 Swedish Krona?
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d) If you exchanged 10000 USD into GBP and then back again, how many GBP would you

get back?
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@ Find +the Sum of @ach series (chow dekids for oV sreps)
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S The figure shows two adjacent triangular fields ABC and ACD where AD=30m,CD=80m,BC= -
50m. mLARE60° and wBAC = %o ’

(a) dé""ﬁ .AACD coleulake Ac. _
Mo Ac =20t % - ?(w{ac)dosw
AQ% = HAeD

1&
30m
AC = [Om
(b') Then aa)ewose mLAﬁC £ o

‘5"73*4{'30

L PN ey,

Sin B =0,1 —

]

diagram. w&F 1o =cale

(a) Caleulorz. the. aveq of the -(‘{}z\é ACD: L5

)"

"5 (‘ZO)(?)O) Sin o’

S 1023 m

7: )O’-&O'mz jo nearest B S—P




Notes on Day 3 of Sequences November 20, 2018

SoqUeNER
ciol ITnvest l@

n-\
Un - Ul r
_j£Tw¢know




Notes on Day 3 of Sequences November 20, 2018

Tnoese 00 by 507 5 260
Thereae 200 by | 1A 545
Thovose G0 by 9| 085 b3
Dowa 2000 by 13| T a7t
Trcrease 2000 by [¢s} 2 400
|
/\:Q//’E—’—\ﬁ‘ F inanCe

HGVQ you( 3@@“3 cal culator
our .

You will = Qo\\owiﬂg a
SPquensR ot gLQFg \




Notes on Day 3 of Sequences November 20, 2018
’B{?@ \OCOO
ENTEI

%jﬁ TQP( osents The amount &
Mmoney 'you Saved Lrom oo

100

<%ou the n d@o&ﬁb\f n o
b ank et PayS 4 omuel
ftereste You plan 1o

nvesT foi § for Ryeors

‘OOO ?OO/*‘ I

enter | o 1‘/

x| .o
ENTR (3 -qus\

\(Ou hove \gug’(‘ Ca\c ux\oféé\ 'H\{
futuwre value ot N our ?nt+(§l
[pvesT et ¢ TS amouiT 1S o

#3857 |




Notes on Day 3 of Sequences November 20, 2018

Tetread ) what it you Mvested

;/our ﬁ[()ﬁb o~ an annual Inferest (ade
£ (.57 dor || years, e

(®)

w‘mPc\ﬁ Means> You st c\oOHfA
ycu:( W\o‘ﬁ‘e\ér

MOM fr T meant 20 yeors
: 7./. 30
(J Vst kcéxépsv T’\/ . \0000077




Notes on Day 3 of Sequences November 20, 2018

%eca\)se we ave aPp\ym o

constant Ferco_h‘\‘ oVer cnd Over | we
N
e on e an

@CPOV\*QYT\'\' a ‘C&h cH AN

X
% = O\\O
Wy of yeass

_ o (1-o%)

g= [0 (1 + .8 ):2
= Jooo (¢ 3%)

Copou A &nﬂum\j.




Notes on Day 3 of Sequences November 20, 2018

/&U\')' WOT+ _l §0m9_ bﬂnks Pay (;O‘-L

Ve est mul—ﬁp e times PeX %eox

Somi - annually
({wicq o %‘QQVB

4'\ 0l me‘)\e

this means YO %—‘? s \!}Q\Y% CQT"\FO\’\“M

GXOLY“P\QB % y cmhu\a.\ intevest
< -Qvar Six wenths
A q”' Jfre et six months
A 'ZZ
00()( t 4 \ \\ years af
l 9\ Z co™Pe Py \\5@"
22
oo 1+47)

j000(+ o = o (o)

-
~~




Notes on Day 3 of Sequences

November 20, 2018

Some banks pay

quay t-ex \7/
monJrM\/
ﬁem?— ahhlx\al l\/
annually
Aa\' \\/
. contiuously

— -
[

TES

FV = PU« (1 i

r >\<”




Notes on Day 3 of Sequences November 20, 2018
Future Volue.

Kn
FV = f\/*('J“(drTQ

/

Prosant
\ alue

ha\ nterest voite
Future Volue Qé“v‘u A

Ny Kn A=
F\/ = f\/n (I + l—d)—|<>. ﬂ:yeo\fs

/ K —: # of COMPOW“"""@S
e per e




Notes on Day 3 of Sequences November 20, 2018

argiral Tterest vote
( w®en oo o )

Ny >\<” n=

|+ I&J_K # years

! v
o

K = # o‘lC COmPO"‘“Cl'-'@S
P@f UQQ\F

handout




Notes on Day 3 of Sequences November 20, 2018

@ Calculate the future value of the following situations.

) $800 invested at 5% interest for 3 ¥ears compouned monthly

Fl/ = %@S(( zoo)g

| 2)

b) $15,000 at 2.5% interest for 20 years, compouned quarterly

[2

c) $4,000 at 6';% interest for 20 years, comp. semi-annually

@ Calculate the future value of the following situations.

) $800 invested at 5% interest for 3 years, compouned monthly

b) $15,000 at 2.5% interest for 20 years, compouned quarterly

c) $4,000 at 6';% interest for 20 years, comp. semi-annually
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@ Calculate the future value of the following situations.

a) $800 invested at 5% interest for 3 years, {:omp uned monthly
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b) $15,000 at 2.5% interest for 20 years, compouned quarterly

c) $4,000 at 6*% interest for 20 years, comp. semi-annually

@ Calculate the future value of the following situations.

a) $800 invested at 5% interest for 3 years, {:omp uned monthly
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b) $15,000 at 2.5% interest for 20 years compouned quarterly
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c) $4,000 at 6';% interest for 20 years, comp. semi-annually
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(2 Finding the Present Value (or Capital)

How much does Nicole need to deposit into an account to collect $50,000 at the
end of 6 years if the account is paying 6.8% p.a. compounded quarterly?

&y Finding the Present Value (or Capital)

How much does Nicole need to deposit into an account to collect $50,000 at the
end of 6 years if the account is paying 6.8% p.a. compounded quarterly?
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© Finding the interest rate

Calculate the interest rate that Tus would need in order to accumulate $25,000 in 5
years time, if the initial amount to invest is $19,971 (assume monthly compounding)

© Finding the interest rate

Calculate the interest rate that Tus would need in order to accumulate $25,000 in 5
years time, if the initial amount to invest is $19,971 (assume monthly compounding)
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©® Finding the Time Period

For how long must Jamie invest 4000 euro at 6.4% p.a.
compounded half-yearly if is to amount to 10,000 euro?
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© Finding the Time Period

For how long must Jamie invest 4000 euro at 6.4% p.a.
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Word of warning: be able to get all answers

algebraically, except for any problem involving
monthly payments.
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